
CHAPTER-1 SETS ERERCISE 4 CLASS X 

9NO fnd the unon eeath of the olluing paivs Se ets 

X ,3,5 
AUY h2s u{,3,3}= {,25 
A:, e,to,u Ba,b,c 
AB a,e,ouu5 {, ,e,o

Y:L,3 

eii) A: ÍS q matuial nunbr and mulli ple of 3 

B x is natiusal mumbt less han 6 

1R, AVB:{36212.. }u{,3a,4,5}3255 
w) A is a naural numbur and I<6} 

B x;x 4 1atural numbt and 6xlo 

AUB334,5,6} u{7, 8,9}{",5,6,78,3 
( A 13,3} B- 

AuB{L23} U {12,3} 
2Let A{a,b B{a,b,c Is AcB? Nhat is AUB? 

Smce ever element of A s B 
ACg 

AUB = B ,bc} 
DN2 A and B afe two seli such lhat AC 

hen Ihat s AuB? 
A CB then et A is uly tontaned B 

AUB B 
GNG4 A133,4 B34,5,6} 5,6 

Cmd 7, 3,9 1o ) fnd 
( AUB 

AUB:34 u34,5,6 -{131, 58 



in) AUC 

AUC 

1) BUC 

BU3, 5fs4,7s 45,5,78 v) 
BUD {7,8,9io {345,1,10j 

BUD 

AUBUC 
AUBUC ,3,24} u{3, 15, }u{5,,7,8 

{L,5, } uf5,7-f,324,5, 7,8 V) AUBUD 
AUBUD : 

L335,5,6 u{ia,9- {a,5,4789 vn) BUCUD 

BUCUD ,56}u {5s7a)u {z8) 

4imd the ferseebon oeath pas o u of N 1. 
9No S tmd 

xDY ftas} o,3} {3} 
A nB9,i}n{g,hc)- {a} 

tiy Ane {3,6,9, - }ai345 {3} 
AnB,3,45,6)0{7,8, 9} 

AnB: ,3 #. 

NOTE'. 
Intersection 
means set 

oceonm0n 
elemenk 

l) 

GNo A35,79,1n} and B , 15 
1, 15, s D15,17 fut 

Sel AnB 

-5,5,7,2u} n{72,, B3 -{7, 



(1 Bnc 
3nc 7 1u, 5} n u, 13, 15 - {u, 15 

iin) A OCnD 

Ancnp (Anc)ad -f3572uyo {u, i5s1)153 

) A nC 
AnC3,5,7,9 1} n {f u, 13,15 u 

(V) 

Bn 7,9, 1,13} 0 f15,17} 
(VI) 

An BUc) 

vi1) AnD 
AnD s s,1,91} n {is,7}- 
An(BUD) 

A (BuD) 3s,,n n ({7 1, 3 u{is,n 

-35,7,9{z,1,15Is, n -{7n 
x) (A0 B) n (Bu) 

a0 B) n(Bor) -357, ntol1,sn2 , 13 195
f7,9,1, 13,15 {i2i} AUD) O (BUc) 

7)1,")) ({7 }u iy s) 
25,7 15, 7} nj791,13, 5-1n,5 

ONo 3 A Ia nasal numbes 
, I an even malutal numbel 

C 1s an Odd alura numbt 
S a pme mumbu 



3,3 
B ,4,58, 

,35,7 
2, 35,7, 

Sol Here A 

C 

D 

AnB :34.}o f2,4,6, 8} {4,8- B. 
Anc 2,3 4. 3,5, 7 -{25,7 f *C 
AnD: 2,3,4...-4ni2,2,57,1- }.S3>5,70-- =) 
BOC2,4, 6,8 {35,7. = 

(Bn 2, 4,6, }nf2,3,51 2 

( 

cnD ,3s,7 }nfa,35,7-3 fs,7
ON 8 Ahich o ollooigpar o Sels aYe dint 

1) 

, 34 and 1i aual 10. and 6 

Since ntersteton of hese delr Ic Since 

Not disJ0mt el. 
(1) t a, et,o,u} adCde, } 

13,cou n idet}ie} # ne 
Not elispeint Seli. 

Ciyx xis an evn legerand ; 10 an9 edd ueer 
Hefe2,4,6 nf,25} = 

ese afe disoint Seli 
ONo A:3,6,9 ,2,15,1 2 48,13, 16 

C24,6, 8, 10, 12, 14, e} D 5, 15, 15, 2 fl 
A-B 

neA and a B} 
3,, 1, 18, 21] 



) A- 
A-C-xxeA ardx e} {z 9 15, 18,a1 

ii A- 
A-Dx xeA and xfoj - 36,9, 12, 18, a1 

B A 

B-A x; «eB md A 4,8,16,20 

C-A bul x 9¢A 2, 8, 10, 14, 16 
C-A 

(VI) -A 
D-A: xep but o ¢a 5, 1, 20j 

VijB- 

B-CyaeB bur a #c} 20 
vili) B-D 

B-D x; XtB bat 1¢D 48,,16 
(1x) C-B 

CB z, zec but xe s} - i3,6,1o,14 
X) -B 

D-B , red but x ¢ B is, 1o, 15 

Xi) -D 
c-Dxvec bat z4 p 4,,8,13, 14, 

i) D- 
p-C ep txg c {s,15, 

ON lo a, b,c, d and Y- {f b d a rid 
(1 -Y ) Y-X (1) XOy 

X- ; «E X ut x4N 

-a, 



1) Y-X 

tiy x0 {b, d} 
ONo JR Se of veal mumbers and et o set o 

Aalienal numaus then 1akal s R-& 

R0 Set of Raal nluzmbers-(ot Raial Numbs 

Iraional Numbe s -set o 

tall dhether each llouwinstatemenl 1s 

tsu alse Tuat youY àneuefr 

2,3, 

ONo-12 

2,3,4,sand 36 are dtyeinl Sel.
Fase 3 1sCOmmov elemen of boh [e. 

T) a, eCoucnd a,b , d ave diiint Se. 

in) 36,1, 14 and f3,7,5 are dhspotnl' seli. 
False a is CommO element 

ue he is m Cmmen element 

6,1and,7,u} ane ditjoint Sels. 
TE bucaust here is mo commow elemot 
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